

Derivations induced by an endomorphism of *BG*-algebras

Patchara Muangkarn¹, Cholatis Suanoom¹,
Anuphap Yodkheeree¹, Aiyared Iampan²

¹Science and Applied Science Center
Program of Mathematics
Kamphaeng Phet Rajabhat University
Kamphaeng Phet 62000, Thailand

²Fuzzy Algebras and Decision-Making Problems Research Unit
Department of Mathematics
School of Science
University of Phayao
Phayao 56000, Thailand

email: putchara_31@windowslive.com, cholatis.suanoom@gmail.com,
phap2539@gmail.com, aiyared.ia@up.ac.th

(Received November 1, 2021, Accepted December 15, 2021)

Abstract

We introduce the notions of outside, inside, (r, l) - and (l, r) -derivations induced by an endomorphism of *BG*-algebras and give some properties.

1 Introduction

In 2008, Kim and Kim [10] constructed a *BG*-algebra from a non-empty set, which is non-group-derived inspired by the concept of *BCK/BCI/BCH/B/G*-algebras, see([8, 7, 6, 12, 5]). In 2010, Al-Shehrie [1] introduced the notion of derivations in *B*-algebras which was defined in a way similar to

Key words and phrases: *BG*-algebra; endomorphism; outside derivation; inside derivation; (r, l) -derivation; (l, r) -derivation.

AMS (MOS) Subject Classifications: 06F35, 03G25.

Corresponding author: Aiyared Iampan (aiyared.ia@up.ac.th).

ISSN 1814-0432, 2022, <http://ijmcs.future-in-tech.net>

the notion in *BCI*-algebras. Moreover, Ardekani and Davvaz [3] introduced the notion (f, g) -derivations in *B*-algebras, where f and g are two endomorphisms in *B*-algebras. Furthermore, in 2019, Kamaludin et al. [9] introduced the notion of derivations in *BG*-algebras which was defined in a way similar to the notion in *B*-algebras. Then, in 2020, Aziz et al. [4] discussed (l, r) - f -derivations, (l, r) - f -derivations, and (f, g) -derivations in *BG*-algebras. Also, the notions of left f -derivations and left (f, g) -derivations in *BG*-algebras were introduced and some of related properties were investigated. Next, in 2021, Muangkarn et al.[11] studied some properties of outside and inside f_q -derivations of *B*-algebras. In addition, they defined and studied some properties of (right-left) and (left-right) f_q -derivations of *B*-algebras.

In this paper, we study some properties of outside, inside, (r, l) - and (l, r) -derivations induced by an endomorphism of *BG*-algebras.

2 Preliminaries

In this section, we will review the material needed for our study.

Definition 2.1. [10] *A BG-algebra is a non-empty set X with a constant 0 and a binary operation $*$ satisfying the following axioms:*

- (BG1) $(\forall x \in X)(x * x = 0)$,
- (BG2) $(\forall x \in X)(x * 0 = x)$,
- (BG3) $(\forall x, y \in X)((x * y) * (0 * y) = x)$.

Lemma 2.2. [10] *If $X = (X, *, 0)$ is a BG-algebra, then:*

- (BG4) $(\forall x, y, z \in X)(x * y = z * y \Rightarrow x = z)$ (*right cancellation law*),
- (BG5) $(\forall x \in X)(0 * (0 * x) = x)$,
- (BG6) $(\forall x, y \in X)(x * y = 0 \Rightarrow x = y)$,
- (BG7) $(\forall x, y \in X)(0 * x = 0 * y \Rightarrow x = y)$,
- (BG8) $(\forall x \in X)((x * (0 * x)) * x = x)$.

Definition 2.3. [9] *Let $X = (X, *, 0)$ be a BG-algebra. A self-map d on X is said to be regular if $d(0) = 0$.*

Definition 2.4. *A self-map f on a BG-algebra $X = (X, *, 0)$ is called an endomorphism of X if*

$$(\forall x, y \in X)(f(x * y) = f(x) * f(y)).$$

Note that $f(0) = 0$, see [4].

Definition 2.5. [2] Let f be an endomorphism of a BG-algebra $X = (X, *, 0)$. A self-map d on X is called an outside f -derivation of X , an inside f -derivation of X if it satisfies the following order:

$$(\forall x, y \in X)(d(x * y) = f(x) * d(y)), \tag{2.1}$$

$$(\forall x, y \in X)(d(x * y) = d(x) * f(y)), \tag{2.2}$$

and an f -derivation of X if it is both an outside and an inside f -derivation of X .

Next, we review a new concept of (l, r) - and (r, l) - f -derivations by the concept of [11] as follows:

Definition 2.6. [11] Let f be an endomorphism of a BG-algebra $X = (X, *, 0)$. A self-map d on X is called an (l, r) - f -derivation of X , an (r, l) - f -derivation of X if it satisfies the following order:

$$(\forall x, y \in X)(d(x * y) = (d(x) * f(y)) \wedge (f(x) * d(y))), \tag{2.3}$$

$$(\forall x, y \in X)(d(x * y) = (f(x) * d(y)) \wedge (d(x) * f(y))), \tag{2.4}$$

where $x \wedge y = y * (y * x)$ for all $x, y \in X$.

3 Main results

In this section, our results about outside and inside f -derivations, and (l, r) - and (r, l) - f -derivations are examined in details. From now on, we shall let X be a BG-algebra $X = (X, *, 0)$ and f be an endomorphism of X .

Let $q \in X$. The self-map d_q^f on X is defined by

$$(\forall x \in X)(d_q^f(x) = f(x) * q).$$

Then $d_0^f = f$; indeed, $d_0^f(x) = f(x) * 0 = f(x)$ for all $x \in X$.

Theorem 3.1. d_q^f is injective if and only if f is injective.

Proof. Assume that d_q^f is injective. Let $x, y \in X$ be such that $f(x) = f(y)$. Then $d_q^f(x) = f(x) * q = f(y) * q = d_q^f(y)$. Since d_q^f is injective, we have $x = y$. Hence, f is injective.

Conversely, assume that f is injective. Let $x, y \in X$ be such that $d_q^f(x) = d_q^f(y)$. Then $f(x) * q = f(y) * q$, it follows from (BG4) that $f(x) = f(y)$. Since f is injective, we have $x = y$. Hence, d_q^f is injective. \square

Theorem 3.2. *f is an f -derivation of X .*

Proof. Since f is endomorphism of X , we have $f(x * y) = f(x) * f(y)$ for all $x, y \in X$. Hence, f is an f -derivation of X . \square

Theorem 3.3. *If d is an outside f -derivation of X , then $d(0) = f(x) * d(x)$ for all $x \in X$.*

Proof. Assume that d is an outside f -derivation of X . Then, by (BG1), we have $d(0) = d(x * x) = f(x) * d(x)$. \square

Theorem 3.4. *If d is an inside f -derivation of X , then $d(0) = d(x) * f(x)$ for all $x \in X$.*

Proof. Assume that d is an inside f -derivation of X . Then, by (BG1), we have $d(0) = d(x * x) = d(x) * f(x)$. \square

Theorem 3.5. *Let d be an outside f -derivation of X . If $f(x) * d(x) = 0$ for some $x \in X$, then d is regular.*

Proof. Assume that $f(x) * d(x) = 0$ for some $x \in X$. Since d is an outside f -derivation of X and by (BG1), we have $d(0) = d(x * x) = f(x) * d(x) = 0$. Hence, d is regular. \square

Theorem 3.6. *Let d be an inside f -derivation of X . If $d(x) * f(x) = 0$ for some $x \in X$, then d is regular.*

Proof. Assume that $d(x) * f(x) = 0$ for some $x \in X$. Since d is an inside f -derivation of X and by (BG1), we have $d(0) = d(x * x) = d(x) * f(x) = 0$. Hence, d is regular. \square

Theorem 3.7. *d is a regular outside (inside) f -derivation of X if and only if $d = f$. Moreover, d is a regular f -derivation of X if and only if $d = f$.*

Proof. Assume that d is a regular outside f -derivation of X . Let $x \in X$. Then, by (BG1), we have $0 = d(0) = d(x * x) = d(x) * f(x)$. By (BG6), we have $d(x) = f(x)$.

The converse is given according to Theorem 3.2. \square

Theorem 3.8. *If d is an outside (inside) f -derivation of X and there is an element $x \in X$ such that $d(x) = f(x)$, then d is regular.*

Proof. Assume that d is an outside f -derivation of X and there is an element $x \in X$ such that $d(x) = f(x)$. Then, by (BG1), we have $d(0) = d(x * x) = f(x) * d(x) = 0$. Hence, d is regular. \square

Corollary 3.9. *If d is an outside (inside) f -derivation of X and there is an element $x \in X$ such that $d(x) = f(x)$, then $d = f$.*

Proof. The proof is straightforward by Theorems 3.7 and 3.8. □

Theorem 3.10. (1) *If d is a regular (l, r) - f -derivation of X , then $d(x) = d(x) \wedge f(x)$ for all $x \in X$.*

(2) *If d is a regular (r, l) - f -derivation of X , then $d(x) = f(x) \wedge d(x)$ for all $x \in X$.*

Proof. (1) Assume that d is a regular (l, r) - f -derivation of X . Let $x \in X$. Then

$$\begin{aligned} d(x) &= d(x * 0) && \text{(by (BG2))} \\ &= (d(x) * f(0)) \wedge (f(x) * d(0)) \\ &= (d(x) * 0) \wedge (f(x) * 0) \\ &= d(x) \wedge f(x). && \text{(by (BG2))} \end{aligned}$$

(2) Assume that d is a regular (r, l) - f -derivation of X . Let $x \in X$. Then

$$\begin{aligned} d(x) &= d(x * 0) && \text{(by (BG2))} \\ &= (f(x) * d(0)) \wedge (d(x) * f(0)) \\ &= (f(x) * 0) \wedge (d(x) * 0) \\ &= f(x) \wedge d(x). && \text{(by (BG2))} \end{aligned}$$

□

Acknowledgment. This work was supported, in 2021, by the revenue budget, School of Science, University of Phayao.

References

- [1] N. O. Al-shehrie, Derivation of B -algebras, J. King Abdulaziz Univ. Sci., **22**, no. 1, (2010), 71–83.
- [2] D. Al-Kadi, f_q -Derivations of G -algebra, Int. J. Math. Math. Sci., **2016**, (2016), Article ID 9276096, 5 pages.
- [3] L. K. Ardekani, B. Davvaz, On (f, g) -derivations of B -algebras, Mat. Vesn., **66**, no. 2, (2014), 125–132.

- [4] W. Aziz, Sri Gemawati, L. Deswita, On (f, g) -Derivations in BG -algebras, *IOSR J. Math.*, **16**, no. 4, (2020), 14–20.
- [5] R. K. Bandru, N. Rafi, On G -algebras, *Sci. Magna*, **8**, no. 3, (2012), 1–7.
- [6] Q. P. Hu, X. Li, On BCH -algebras, *Math. Semin. Notes*, **11**, no. 2, (1983), 313–320.
- [7] K. Iséki, On BCI -algebras, *Math. Semin. Notes*, **8**, no. 1, (1980), 125–130.
- [8] K. Iséki, S. Tanaka, An introduction to theory of BCK -algebra, *Math. Japon.*, **23**, (1978), 1–26.
- [9] Kamaludin, Sri Gemawati, Kartini, Derivations in BG -algebras, *Int. J. Algebra*, **13**, no. 5, (2019), 249–257.
- [10] C. B. Kim, H. S. Kim, On BG -algebras, *Demonstr. Math.*, **41**, no. 3, (2008), 497–505.
- [11] P. Muangkarn, C. Suanoom, P. Pengyim, A. Iampan, f_q -Derivations of B -algebras, *J. Math. Comput. Sci.*, **11**, no. 2, (2021), 2047–2057.
- [12] J. Neggers, H. S. Kim, On B -algebras, *Mat. Vesnik*, **54**, nos. 1-2, (2002), 21–29.